[ Efficiency vs vertpos |
~ 0.05

9.045F

ok
>\0.04:—'
Q F
@.035_—'
S E
50.03¢
0.025F--
0.02F
0.015F-

0.0+
0.005

1.0

Ratio

"
i
-
H
+

o
©
a

107 1

=
2
N

10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global__mkFiti100i0__RECO
Efficiend —— pom_v0001_R000000001__Global__mkFiti1000mod__RECO

~ 0.05 T T T T T
L R T T T S

® = : : : : :
Z0.04F oreobeenees oo
o E : : : : :
=90 icl:] RRURR SEPTRRLE: EORRLS Beeneeedenenes P
1=} E H H H H
£ 0.03F - weerireeeedheennes Beeeeeedenenes P
[©] o : ! : :
R S RS § R S SR S
O § KRR SRR S Beeeenes
OX0UL:I SRR SURRE £ SRR RICIIT NIt P
0.0 ++e+cheresees ddefeebef e fooeeeens Beeeeees
0.005f-++-++fe-e--e-if - +++H 1 -------- S
Y| PUPRPUNS SN [N 0 A S S
T r
hd [
| B4 -dalllld .
0¥/ —=20 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1

>
2 0.09

£
= 0,08

H

R R R = = =

P08 6 4-20 2 4 6 8 10
Sim. PV z (cm)



	Contents
	Page 1


